	 FORMCHECKBOX 

	Number
	

	1
	152 000 - 46 000 = 106 000

106 000 ( 0.0456 = 2.32 ( 106
	4

	 FORMCHECKBOX 

	
	

	2
	a) 9.35 ( 107
b) 250 000

c) 93 500 000 ( 250 000 = 3.74 ( 102
	5
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	3
	a)
i) 1


ii) 1/16

b) 1/8 ( 2=1/4
	4
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	4
	a)   3.62 ( 108
b)   From 5.11 ( 108 to 5.12 ( 108
c)    (a)/(b) ( 100 = between 70 and 71 inclusive
	6
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	5
	3.27 ( 104
	2
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	6
	2.7 ( 108 ( 3600 (= 75000) = 7.5 ( 104
	3
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	7
	a)   10 600 ÷ 10 303 = 10 600-303 = 1×10 297 or 10 297
b)   40×10 303 = 4×10 304
	4

	 FORMCHECKBOX 

	
	

	8
	a)  3×10 -8
b)  (a) ÷ 100 =  3×10 -10
	4
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	9
	750 is 85%

1% = 750 ÷ 85

100% = 750 × 85 ÷ 100 = £882.35
	3
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	10
	_11374.09_
=  11374.09 
  (0.2 + 4.5)2

4.72
= 514.89769...
	3
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	11
	__59 ( 5.7_
=   _336.3_
200.3 ( 8.05
    1612.415

= 0.208569 = 0.208 or 0.209


	2
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	12
	484 × 4.3/100
484 + 20.81 (= 504.81)

504.81 × 4.3/100 = 21.7069

504.81 + 21.71

OR
484 × 1.043 = 504.81

"504.81" × 1.043 = 526.52

OR

484 × 1.0432 = 526.52

Accept £526.51 or £526.52
	5
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	13
	1st Jan 1997 £8500

1st Jan 1998 £7650

1st Jan 1999 £6885


	5
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	14
	a)
i) 5.5 cm


ii) 4.5 cm

b)   0.2 km
	4
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	15
	T ( 1/d2 
T = k × 1/d2 
50 = k × ¼

k = 200

T = 200 × 1/3.52

T = 16.33ºC
	5
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	16
	circles (2/3 and 4/3(

	2
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	17
	x = 0.4545454545454545...

100x = 45.454545454...

99x = 45

so x = 5/9
	3
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	18
	 e.g.

i) 3, 4, 5

ii) (7, (2, 3

iii) 2, 3, (13

iv) 2, (5, 3
	4
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	19
	2/3, 1.6, 4/17 ticked
	2
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	20
	tick (12  and   (1
       (3
         (36
	2
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	21
	a)   e.g. (8 ( (2 (= (4 = 2)

b)   x3 such that 3(15 < x < 3(16

      x3such that 2.446 < x < 2.519
	4
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	22
	a)
x2: (17 < x < (18


or x2: 4.123 ( x ( 4.242

b) e.g. (3 ( (12 = (36 = 6
	4
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	23
	Since the scales were only accurate to 0.1kg then 1.4 should be the answer.


	2
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	24
	93 550 000 ÷ 185 500 = 504

93 450 000 ÷ 186 500 = 501
	5
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	25
	a)
i) 2.2365


ii) 2.2355

b)
i) 3.651


ii) 3.649

c)   2.2355 × 1.4135 = 3.15987925

d)   2.2365 ÷ 1.4135 = 1.58224266
	8
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	26
	a)
i) 6.05


ii) 5.95

b)   (6.05×8.35)/2 = 25.25875

c)   Tan PQR = 8.35/5.95 so PQR = 54.5°


	9
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	27
	i)  9

ii) 4/9
	2
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	28
	a)
i) 35


ii) 65

b)  45 ( 65 = 2925

c)   35 ( 65 (= 0.53846...) = 0.538

d)   = 1 + 10/x = 1 + 10/35 (= 1.2857...) = 1.29
	8
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	29
	40 ( 1.005  = 11.14


1.92
40 ( 0.995  = 9.02


2.12

	6
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	30
	i)   2 ( 999 = 2 ( 9 ( 111 = 2 ( 27 ( 37 = 2 ( 33 ( 37 ; n = 3, p = 37

ii)  3 ( 37 = 111
	3


